Explain the relationship between

price elasticity of demand.

g @ ueg way i fad=

20+20+20=60

average revenue, marginal revenue and

AHATAT

(Or)

e B A | e £ | SR S LER uﬁﬁmwﬁﬁwmﬂwﬂﬁ-ﬂ?ﬁ

T 7

Explain the three stages of production.

second stage 7

mﬁwﬁqwa'%tﬁdmmﬁﬁﬁ?qawaﬁm|

Explain the price-leadership by

30+30=60

Why does a firm use 2 factor in 1ts

60

dominant firm under oligopoly.

Headl

(Or)

et atefemaEel H Hifgd T 1 yftrr &1 fEs=E W

Explain the role of monetary

M1312010

policy In a developing economy.

13(1)
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4. fafma v & ‘w3 vifss goar!” IEId 1 STaeqs g1 Fifsrz | 60

Critically discuss the “Purchasing power parity theory” of exchange

rate.

HIdT

(Or)

AT wgeaen & Ged § ufergy fawrg g% =9 Yl s FHify |

Explain the role of Asian Development Bank in the context of Indian

economy.

5. %l | W Y&F | 200 v T gferm ot fafem . 15x4=60

() U I R B Iy

(e Wﬁﬁﬁﬁ%mﬁmi

M1312010 13(1) P.T.O.



(1) Objectives of International Monetary Fund

(ii)  Factor price equilisation theorem

(iii)  Proportional, progressive and regressive tax system

v) Representative firm, equilibrium firm and optimum firm.

(V) Non-Renewable resources

wi) Role of foreign capital in economic development.

M1312010 13(1)
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Instructions to the candidates

1.

TWUH-TH A FA WA T L | AN G9 & IR AT I T % 2 9 5 a5

This question paper consists of five questions. A/l the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

TI-T & HA 3% 300 T aw FAuifd @ 3 w2 ¥ 1 3fe stmen =E v
T, A W U F ofw wOH § 1w # I I weem 3 few W =fen fame
9T A HUA ESH-UF H TR € 1 R e oweam A fam ™ SW oW oW
s T frerm 1 Bt ute W w o B wee-m ® sER @ weR @
S FAER 2. TF 7 9 & = anil & oW st wu @ s wy @ e
ST JYT IFF A A qVE o IW A Al w7 | T B HHA ool Bl
ST {1 A1 & Snf=fre 99

13(2) P.T.O.
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The total number of marks of the question paper is 300 and the time allotted

is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in vour Application Form. No marks will be awarded, if the answer is written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in exam, not the scientitic

one.

3, ¥y vT oy Iwig e faEd 20 sfEn ge e, YO YT ® IW Tk AU
3 ufeEt # 2 B

The first question will be of short answer type consisting of 20 compuisory

questions, each one is to be answered in one or tico lines.

4, R v @R G W ¥ SEE FEST T HL
Wherever word limit has been given, it must be adhered to.

5. gtz B wvs § 9 v S FE W 9 a9 FER R Y A, A T @
fe qen BUST ®9ET = T FUS ®YR A {1 SR

In case there is any error of printing or factual nature, then out of the Hindi

and English versions of the question, the English version will be treated as

standard.

M1322010 13(2)
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. frefafed | Oy stdemesyr & ged | uek a1 & engal § feomit fated - 20x3=60

Write in one or two lines on the following in the context of Indian

economy :

(A)  gfadifar s 2002 |

Competition Act 2002.

(B) HRM 3R gEfse =g |

MNREGA and social justice
(C) wfag wdl

Contract farming

D) ‘feE @ sT9 o 9Hed B 7

What do vou understand by ‘Planning 7

-

2 . - _ - :. -f-:. ‘_‘h ! il
;‘E| v Tl et DT LT e e %2 o Thid A3 T T'E}I'l‘{"” |

Share of Agriculture sector in Gross Domestic Production of Madhya

Pradesh.

]

(Fy faeof I wae i fown = & Sifau |

Brieflv clarifv the directional flow of foreign capital.

M1322010 13(2) P.T.O.
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() 9\ gurR H1 AfYE guE |

Economic impact of land reform.

(H) 9 IqeT a FHH IAeEwal &1 gRafed wifsd |

Define agricultural production and productivity.

~

(1) wifgsw Fifd 9w ggewia

Monetary policy and inflation.

(J) ANR WY ad YEaH T™ H AR |

Difference between balance of trade and balance of payment.
K) ‘¥ mm wwe w wfenfs s

Define ‘zero base budgeting’.
(L) g IR H e | e |

Suresh Tendulkar's report on poverty.

(M) #&1 9yeu H o7 fawm fm =1 gfa#r

Role of Forest Development Corporation in Madhya Pradesh.

M1322010 13(2)



(N) &= TWH ek |

Regional Rural Bank.

(Q)  3EnfTes s AT —2008.

Industrial Park Plan—2008.

(P)  HEHaHd HI&F6 |
Maha-navratna index.

Q) M X I g &

Corporate Tax or Company Tax.

Disaster relief fund

» F o

(S) HIIYF T T WHEA HAMIRG R F FARW |

Difference between reference rate and prime lending rate.
(T) &R dfhm

Core banking.

M1322010 13(2) P.T.O.
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aﬁma‘aﬁﬁﬁq%ﬂmmmﬁw%,ﬁﬂeﬂmmﬁsaw
ANeA oTER Hedl S W@ § | HeAehd Sitwg | 60

Although the agriculture sector shows its best performance in present pro-

spective, its share in National income 1s continuously decreasing. Evaluate it.

HAAT

(Or)

W%%W@WWW%?WW%%W*{W,m‘W
# feon § T TEol He9 § | favewm wifsw

What do you understand by the commercialization of Agriculture Sector 7

Is modernization of agriculture sector. a result oriented step for commerciali-

zation ? Analyse it.

[ = ~

e, i qen SEsHEE (LPG) 1 i & & fae 7 gua &
fag=aT shifst | 60

Describe the impact of liberalisation, privatisation, and globalisation (LPG)

on the development of industrial sector.

HAAT

Or

i - - = -+ -
il —— o T ——— - - = e - o —
F] HYdw =x77 0 HEH O =~ 7 mise T -7 e et =: - =
h .- X e 5 ¥ ' : |_. -
et

[s economic reform been able to achieve the target of social justice 7 Explain

logically.

M1322010 e



7
4wz faRvh mE wvew ain fer TR - uRd s fame & favm Wi

¥ T HiNT | 60

“Ample foreign exchange currency and constant poverty’-Clearly explain it

with special reference to the development of Indian economy.

HAAT

(Or)

“SfET & T g QUR, SISEdl & ITTET WEl § | A=A gt B gHeET |

Explain criticallv. “The reforms and improvements in banking sector 1s correct

In accerdance to Indian economv.”

3. frfefeg O 9 52 97 W 9EE JYFaer F 29 T (TEE W AT 200

viee] §) feouit fafem . 4x15=60

Discuss in brief (not more than 200 words each) on any four of the following

in the context ot Indian economy.

(A) U5 Tagfag stedfsgesen U9 IR fAITHT sreisgawen

State driven economy and Market driven economy.
(B) WA =% T o ¥3 A fow™ & gEEE |

Prospects of development in agriculture sector of Madhva Pradesh.
M1322010 D 1@ P.T.O.
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(C) IEL JdHIEAT H T |

Problems of urban economy.

(D) 9Ra 1 fa[@-emmaa 9% |
The export-import bank of India.
(E) fova =amRr w87 da &y frafa

World Trade Organisation and Agriculture Export.

(F) 4\ Y3 ° TUIYH] HI Taviadr |

Mobility of infrastructures in Madhya Pradesh.

M1322010 13(2)
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Instructions to the candidates

., WYHA-TA A FAUS WA S | T 9981 & W e1 8 | WA &% 2 | 5 T
4 i fagweq §

This question paper consists of fivre questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

JvA-UH % &l 3% 300 © aul fuif@ gm9 3 =2 § | Al s=zen =& TvifEn T
g, dl W UYH & 3k GHH B | Ul & I I "iegH ¥ fog 9 =ifgu feae
g9 A 3799 IaeA-uA H fhar ¥ | TR o Wem d fog T I W FE
& A8 fAerm | |t wrew g9 & e ¥ ) WE-U & WgER & e &
T OHHAER § | Tk & 9 & fafvy= wml % S sifem v5 9t 9y @
TE W A9 E "9 3 Yl & IW A @ @ | 90e 9 9 helshoied

z TIaT = fera W g&dl ¥, 9gie{wE TE@l |

o
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The total number of marks of the question paper is 300 and the time allotted

All questions carry equal marks, unless specifically stated

is 3 hours.
in the medium which

should be written you have chosen

otherwise. Answers
No marks will be awarded, if the

in your Application Form. answer is written

. which they appear In the question

hould be answered exactly in order 1
question should be written

S

paper. Answers to the various parts of the same

orily and no answers of other questions <hould be inserted

together compuls
t the scientific

hetween them. Regular calculator alone can be used 1in exam, no

one.

ﬁzoﬂﬁaﬁwﬁﬁ,mwqu&aw

qor YYo= IU0E e TSe
& ufdl B A e

of short answer type consisting of 20 compulsory

The first question will be
d in one or two lines.

questions, sach one is to be answere

aﬁmmeﬁﬂs‘%mm@wmaﬁﬁ

Wherever word limit has been given, it must be adhered to.

aﬁwwﬁwmﬁﬁéww=mﬁn
%ﬁﬁmﬁﬁﬁmﬁﬁﬁﬁsﬁmm:f oI

ting or factual nature, then out of th

L_'_Jl

In case there 1s any error of prin

M1312010 13(1)



(G) Hafysr = T 2

What is monopsony ?

(H) fog=R® 99 &1 gy SiSu

Define the expansion path.

(I) AT 9HY &Fdzd |

Explain Euler’s theorem.

'

(J) e=eE (Tafgd) ©Fdl 8§ A9 1 9HHEG § 7

What do vou mean by implicit costs ?

(K) UTF ®H % 3IAET & FAa9 fag &al gar § 2

Where is the shut-down point of a firm’s production ?

(L) afa =9 397 § 2

What are mark-up prices ?

(M) 3dACH i g9d gdEd |

Explain the producer’s surplus.

M1312010 13(1)
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(N) Uiyt oifsd a7 & 2
What is monopoly power ?
(0)  E9 T @ 3 waEd

Define the investment multiplier.

(P)  YS1  Hmr @ o sAmen waf
Explain the marginal efficiency of capital.
Q)  TIHMHEE o Fd2d |
Explain the fiscal deficit.
(R) w41 o &t fag=n sifaq |
Explain the deposit multiplier.
(S) I 9w § = ad & 2

What do you mean by merit goods ?

(TY =9 fagHHew a7 & 2
What is deforestation ?

M1312010 13(1) P.T.O.
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